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{a) 65" C (b) 300°C ] a2
Convert the following temperature to the Kelvis scale. =
(a) 65°C (b) 300°C ) T;\wf“ '
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Name two organelles that contain their own gemyetic material.

J/s. 43 1 TR e 9 i ofvE % am fafed

Name the two physical quantities that are a me =xsure of momentum.
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Give reasons : : Y £
(a) Sponge is a solid yet we are able to conmuppress it. \Q‘@Jﬁ; L7
(b) Wet clothes take longer time to dry in r 2iny season. Ny iy
S
(,j./ 1zﬂgﬁm=lﬁ'12.ﬁg'aﬁmxha%1ﬁmﬂﬁr&aﬁﬂmﬁuﬁ¥rﬁwﬂmﬁﬁqi
12.5g of baking soda is dissolved in 120g <f solution. Calculate the mass by mass
percentage composition of solution.
B/ e B w1 d e F) wee WA B 139 0% @ A gl Sue TR el
FoTh RO T T | 3 Sas w1 g fai T fafad s fE g wees da E
“Water hyacinth plant floats on water surfaace”. Name the tissue and its type due to
which it is possible and also explain the specizal feature of this tissue that helps in this.
\}/?. Zeam M 3R ar H FiE 31 e T Fife 1 -7
Write two differences between ma d wei t '
wo s between mass an ieh Ao g
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@ Plot A maanures
I Plot B C Bremical fertilizers
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(a) The graph below shows two crop yields [plots A and B] that have been treated by
manures and chemical fertilizers respectively, keeping other environmental factors

same.
o
o !
()
wr
= ] N,, Plot A manures
s 1 Plot B Chemical fertilizers
-
o [
—

Quality of amendment
Answer the following questions:
(i) Why does plot B show sudden increase and then gradual decrease in
yield ? |
(i)  Why is the highest peak in plot A graph slightly delayed ?
(b) Name two plants that can be turned into green manure.

g9 =0 el ayHad! w1 e % am fafiad Ford o & wiEg b1 Seaied el ¥ R
fopal i1 @1 Y | 79 AuEed! F1 3 F wten dOF o fated )

Name the Italian bee variety that has been introduced in India for honey production.
/ Write its three merits over other bee varieties.

Qﬁ (@ T afisrn faf@a
(i) T W S
(i) T
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\(93/ Define the following
i} Latent heat of fusion
(ii)  Melting point
List two factors due to which gases show the property of diffusing very fast into
other gases.

@  fogw s gife & ¥ el Q) s fafied |
Gi) F Qo SR A B vt
1, Fafm FER | ga1, S5 %0 fae

C 11

(@) Give any two points of difference between a mixture and a compound.
(1i) Identify elements and compounds from the following-
a silver calcium carbonate
(és soil " sugar solution

\B/é S HIfv %1 o3 s Ed i s Amiea S -
(@)  FifE 5 s AfE
(b) I 1 UER BE

Draw a neat diagram of an animal cell. Label the following parts.
(a)  suicide bags of the cell
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(b) powerhouse of the cell
Bé e % R difm -

(a)  THOICHIETI 0 i il T Henl w4 ol § |
(b) =i F el 3= T § e @ i € o g o o ¥
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?f sons for the following :

Cells of sclerenchyma tissue have a narrow lumen. b

) Branches of a tree move and bend freely in high wind ve]m:lty ' @
(¢)  Itisdifficult to pull out the husk of coconut. } g

\/3/1/4. (@ W ol srifaw i Wi # faa g vefda Fif | q
(b) T Tl = Ueos svgan srifees R & w9 § wea |

(i) T TR (ii) el == /7

Diagrammatically represent voluntary and involuntary muscle fibres.
) Identify the following activities as voluntary/involuntary.
. (i) Pumping of heart (i)  Clapping of hands

P‘{ % HEE U 200 m 9 o FHAGR 99 FH T 9940 s T QU FAa T 1 140s WER W
I G 94 1 7 gl SR fawnes femaen g 2 &
An athlete completes one round of a circular track of diameter 200m in 40 s. What will be
the distance covered and the displacement at the end of 140s 7

P\f{ e &1 Wi 1 g@a Frem fafied | a9 i @ et & fee ) afa 1 weet ¥ foe faard
2 % W 21 Tl 6l O ) AR A e E = 2 T

State Newton’s second law of motion, while catching a fast moving cricket ball, a fielder v
pulls his hands backwards with the moving ball why ?

Pq/{a} Herm e w1 fram fafed | @

U 200 kg =AM 4 [Ue &l U 90 &R0 4 125§ 10 ms ™! % 97 § 16 ms™1 0%
@i T s € | 39 fie &1 urfivs @it stfm 937 am Fifsd an 39 aa =1 49t
IREhe Hifan S 48 ufitady o € |

(a) State the law of conservation of momentum.

(b) A mass of 200 kg is accelerated uniformly from a velocity of 10 ms™ to 16m s™ ! in
12s. Calculate the initial and final momentum of the object and the force that

}‘\'*‘f

PJ brings about this change _ X% o)
8.  HH U H 9 99d ¥ 7 US 9% 1 9 & 9d8 W YR 20 N § | SR H 96e W 5 4
IR o B 2 yeEt W iR T W gHes 9oEE A 9 St | (9 W g =10 ms 23R

FRH W IR w0 30E1 1/6 T T )
What is meant by free fall ? An object weighs 20 N on the surface of the earth. What

would be its weight when measured on the surface of the moon and also find the mass
on earth and moon ? (g on earth is 10 m s72 and on moon it is 1/6' of this value)

P 1. e i Bl Sl T ! SR 98 msT1 % 9 A el w1 @ | 9% Forg aifiran S o

Page 50f13



QJJ .'0‘ ,_5 (a) List the three characteristics of particles of matter.
\\;9 " r?{b} Arrange the following ,iubsta,‘mes in ingreasing order of forces of attraction
GOQ\‘ @ = between lt11:—z particles - milk, sugar, carbon dioxide. ’ )
WO G (c) On a hot sunny day, people sprinkle water on the roof or open ground. Explain
with reason.
I (<) Write the factors which determine the state of a substance ?

c 22

D\
%a} ugrd % Ul & A e 1 fEiE ) 3\.'0
() T el =i vl % wen s 9@ & ded wH A Sgafem S - Q\L\Ly,g
“h

Hﬁﬁ%mwﬁwaﬁmﬁmaﬁﬁaﬂmmmu@ﬁﬁmﬁmmaﬂﬁﬂ; =

A ball is thrown vertically upwards with a velocity of 98 ms™. Calculate the maximum ﬂ: —\Je
eight to which it rises and the total time it takes to return to the surface of the earth.

(@ =l oy o wiy oy R wed € 2 wSiE 1w Seed i |
(b) I ER F < W sagl & M fafed
(© el @ T gue & o fom fafy o1 wem fea s € e am fafae imwE v o

¥ foe < I ot T fadvit e = am fafen | el § gun e % o faf ,\:ﬁ :

Sl

i AH & < 32w fafEy | %&4 s

(a) What are milch and draught animals ? Give an example for each. Q"}
(b) Name the two components of cattle feed. \}\"n
(c) Name the method which is commonly used for improving cattle breed ? Write Y

names of one exotic breed which is selected for the purpose. Mention two aims o= "
for which this methed is adopted for improving cattle breed. \(D:to o

et JOR \l%

gE 7 Tl |3 e & fagedvis w1 g e snar W e s e \Q}
BRI Y | o

<t

; B
ixplain composite fish culture system. Memtion the criteria on the basis of which species O
are selected for this purpose. Explain it with the help of example. a

=
o

gy, o, e SReAEEES
(@ Tl & ferli % el i W i o o e B ¥ 1 HRl afed weEEd 1 [y
[dU Tt yeref =i feafa ffvsm &0 9@+ afed ) :

g4 /OR
(a) HedTeA @i g Hifsy |
(b) O HEA TE HAERIEES Y W F Fed © 1
(©) ST TeiEe 1 Sedurd fram ¥ fau us amited fa Tsd g earserT &

, EEEE |
(a) Define sublimation.
(b) Why solid carbon dioxide is called dry ice ?

(c) Draw a labelled diagram to show the sublimation of ammonium chloride and
explain the activity.

(a) serierE H ey SR | Her aex S g T # faemes AR faea 9
JediT

(b)  SIEEETE & 2 A fefed |

(€ U g F yarl seeEs e S | s&H AHifea Fifeg -
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(i)  wml
(ii) o GHAH
g g faf =6 wam w0 =5 v fafad
C (a) Define solubility. Name the solute and solvent present in aerated drinks like soda

waler.
(b) Give two applications of chromatography.
(c) Draw a diagram for distillation of a mixture and lable on it.
{i} distiflation flask
(i)  water condenser
State the condition under which process of fractional distillation can be used.

31erET JOR
(a) feza w1 v e |
H 9 @ fEsa vamE fean -
o & faerad |, g8, W 6l faeran , i gethe =1 faergq
. e 1g 3 g o i 99 e wifers w8 w9 fafa |
Explain Tyndall effect ?
Which of the following will show Tyndall effect 7
(i}, Saltsolution !

Noy o/ Milk
(h:lj/ Starch solution

(iv)  Copper sulphate solution _
Mention three differences between metals and non-metals in a tabular form.

THEHH =0 B WEiE F & fon 39 - = s wifa |

- @y fordl fig & nifa & v & 9 o o0 e "o € fowes Se-99d & W
()  9I9-A5 % G @
(i) UF g 9 (S fe e d e )

ms !

Speed
meT HPOECET

— lime (5) — lime
7 (1) {ii)
&), ~ T ¥ 25ms ™ F A7 W 9 W@ F | 0.5ms "2 F THEHE HONHER @ I F h
o i e 9 € | S 9 Uee o fhea g0 98 X ot 7 qfteee Sifsig
a)* Draw a velocity - time graph to show uniform acceleration.
(b) What can you say about the type of motion of an object if its speed time graph is

(i) a straight line parallel to time axds,
; (it) a curve as shown in figure.
i
L. 7N
5 T
o
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Speed T

A
s~ | Spred [

— time (s) — time
(i) (if)
(c) A train is traveling at a speed of 25ms™1. Brakes are applied to produce a uniform
negative acceleration of 0.5ms 2. Find how far the train will go before it is
brought to rest.

3T JOR
Ueh 9] 1 S7-9HA T ol T faaman @
50+
I ;
Velocity | 304
e 204 :
104
O 5 10 15 20 25
—_—
t Time (s)
=1 vl =1 sFroor wifiem seR < -

(@) Tafan i sa me g fem wem 5 f weftfa et 2

(b) = = o i ) i vt ¥ 2 9@ uvw @ wra =ik |
€  WEF A w1 dewe few uf B wefi a2

(d) G 50 155 § 96 € o 3 wifow |

The velocity time graph for an object is shown in the following figure.

( 501
= —an

Velocity [ 30+
my/s 204

10+

O 5 101520 25
— e
t Time (s)

Answer the following questions with reason. =
(a)  State the kind of motion that the above graph represents. ; :
() Which quantity is represented by the slope of the graph? Obtain it from graph. /
(c) - - Which quantity is represented by the area under the graph? ¥ < & e

Calculate the distance traveled by the object in 15 seconds. \"3’ e % 1/-'}{7
z » N {»'.'3
e 7 aft 3 G P a3 ferg v g T iR | /& )
() T TR R e Y e W oom P I & ) ameEd | D
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From Newton’s second law of motion obtain a mathematical expression for force.
(1) When a carpet is beaten with a stick, dust comes out of it. Explain
(ii) Stepping down from a moving bus is dangerous. Why ?

94T JOR

(a) == @1 Tifg = e e fafad

(b) () e % fa 3g s ury ) ushee wiz w6 g € foad | ot w1 =
/ st w1 i 3 A P ¥ 1

STl et S St € 9 9 o waee gm d w4 2
ferment sifers =e =1 sTEvgea @il - 2kg oA 1 10 ms 2 | @ifid =0 F st
4kg ZE0AF HI 2 ms2 H @fd w01 7 2 uftwers gr wemEd
b (a) State Newton's third Jaw of motion. \
& (b) (i} Why is it difficult for a fireman to hold a hose which ejects large amounts
of water at a high velocity ?
(i1) When a bullet is fired, gun recoils. Why?

Which would require a greater force - accelerating a Zkg mass at 10 ms™? or a 4kg -
mass at 2 ms™2? Explain with calculation.

SECTION - B

= o | e wEe 2 % oy de-sen e ?

(a) R (b)y  FEHH (€  EEH (d)  HHH
ich one of the following chemical gives a blue black colour with starch
(a)  fluorine (b)  chlorine Yg{‘ iodine (d)  bromine

G A e | R T S0 |2 B e sem W Se g 6 rt den @ e e s
&l FEMTE o X T 3R T W HCl % 9 42 Sl | i eE 8 T | sEE ug
ghfyaa g & fr o 3 St sfasm g -

(a)  ©ea (b) TWRFEEA (¢  ORfirm emwme (@) el 28
Seema bought Thoor dal from the market. On adding water to the dal the water became

yellow in colour. She took this sample of yellow water to the laboratory and added a few
drops of dilute HCL The sample became pink. This confirmed that the adulterant to the

dal was :

(a) turmeric (b) metanil yellow

(c) potassium dichromate (d) yellow dye

=t =l TeliF 19 H01 5 forg &6 ol =fey -

(a)  =Id el | adl adk | (b) T H UF | wH wF
(© T ah w1 gt § figen = | (d) =6 I e = e
For determining the melting point of ice we should prefer

(a) ice made from distilled water (b) ice made from tap water
(©) crushed ice mixed with water . (d) a mixture of ice and salt

Page 9 of 13



S
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(a) g F1 Fea ot H gan g =fen |
(b)  wmidler % eca F1 Wity TRl % @ gen e A |
(c)  HHiHIet & =ed ! U i Tag 9 2 - 3 U6l SO e =9y |
(d)  miHiet % =cd FI FaH 6l el 1 B =il |

¢. Which of the following precautions should be observed while determining the boiling
point of water ?
(a) The bulb of the thermometer should remain dipped in water.
(b} The bulb of the thermometer should touch the pumice stone pieces.
£ kel The bulb of the thermometer should be just above the water surface.
/' (d)  The bulb of the thermometer should touch the bottom of the flask.
o

= & 8 919 W v =R ¥ gR yuE A fwar S s ?

(a) WW (b)  FHIFEY wNEs
y  smEfEa () W HTH
Which one of the following cannot be separated by the process of sublimation ?
(a) Camphor (b) Ammeonium chloride
(c) Jodine {d) Copper sulphate
C 0. urit ¥ Fr wee 1 fyem w (S T faa A e mn @) fow e | anafas faemm
TMEAEE :
nw“f =T ﬁd%-q:r F"Tf
(@ () (b) (11] (©) (m) (d) (iv)

The following substances are added to water in a beaker as shown below. The true

solution will be formed in the beaker.
Mustard Sodium Soap

0il Chloride solution Milk

o e o o S0 MRS
Aot ] [

I I IV
() (b) (@) (€ (i) (d W)

e ~ o iR a3 Tagor 1w faven e | fagw = ofEfaa e -
(@ w@AT@ () TAIF@ () F@AYRW (d) CRIAdem
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A mixture of iron filings and sulphur is heated. The colour of mixture will change:
{a) Black to yellow (b) Yellow to black
{c) Black to brown {d) Brown to yellow

o
e

\/532- Afiaferem F arg § SER W) ww SO s -
THI T (b vE4 (c)  ecm dHien (d)  &ceh e

e colour of the product of combustion of magnesium in air is :

)
/ﬁh
(a) Light grey (b) White (c) Light yellow (d) Light blue
C e 9l 3R T 9wt % fugor § FA ek gewEs e W Ha S i
(@)  THE F HI WS WA T & S Al % H et § S8 ey ¥
(b)  THE % HO el H Ao W vefE AR FEv awe d R wy ¥
() THFIARTR I GgRE T @I L

d "TTHHFYITMEIRERFEn IR OR T

)

arbon disulphide is added to a mixture of iron filings and sulphur powder and it is
observed that -
(a) Particles of sulphur start floating on surface and iron particles settle at the botton.
(b)  Sulphur particles settle at the bottom and iron particles start floating on surface.

() Both sulphur and iron particles settle at the bottom.
(<) Sulphur gets dissolved and iron particles remain at the bottom.

€34 THEE W HW Gethe & Trtall ®1 1 w30 € i d | 0 e

(@)  Hethe el w5 " (b)  HIR IR FH G
(c)  Toreeiistor sia = wm (d) i % g
The crystals of copper sulphate turn white on heating due to -
(a) loss of sulphate ions (b) loss of copper ions
(c) loss of water of crystallization (d)  loss of oxygen
35  wwE W 3 sfafias o w1 wer s -

(@) wEHAF FULH | (b) S HE AT
(c)  diefei gr) (d) =3 gl
Excess of stain from the slide can be removed by ;
(@)  using a muslin cloth (b)  using filter paper
{c) using polythene sheet (d)  using cotton

@ 36 = % foreett 1 Ffere Twd  for o weiige 3 Forw o e -
(@  FHE o (b) = g femn
() = =i &l uwit (d) TTE % 3T T Yaell 9
To observe cells in an onion peel, we must prepare the slide by using :
(: crushed pulp of onion (b}  dry scale leaf

) green leaf of onion (d) thin layer of fleshy leaf of onion

qffcs v =kt fereett =1 i g o woge geTel gr Yw @ A 1S SRt
fiears < -
(@)  TEw lem (b) = (©  TemE (d)  iem
Trupti was observing an onion peel stained with safranin under a microscope. The
colour of the cell wall appeared.
(a) deep blue (b) black () pinkish (d) yellow
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(a)  ufeifeme sas (b) Ui Taw
(o) G Saw (d)  af=e g
/ The tissue that has the longest cells in the body is :
(a) epithelial tissue (b} muscular tissue
(c) commective tissue {d) nervous tissue
78 ST Theitas I 3R Framm 91 wiee foas 0f ¥ 1 o S 5 Tears -
(a)  Ifvrn sl =1 el g (b)  F=w =t sEfeafa g
(c)  war =t fearfa grn (d) =i =1 wEe g
You are shown two plant slides of parenchyma and sclerenchyma. You can identify the
sclerenchyma by the .
(a)  thickness of cell wall ~ (b)  Iocation of nucleus
(c) position of vacuoles (d)  size of cells
el afe g frafivel &1 9m w, @ 3l feid 3 9 55 T W, & @ o6 g sreeifie e o
AT S TS0 43 BRI S S gkl ER R
Wj _W'I. : : W1 _WE
g == U 100 ——= x 100
e -
(©) Wor Wi 5 100 (d) WM 00
W, Wo—W,
If the weight of dry raisin is Wi and weight after soaking is W2, then the formula that
can be used to find percentage of water observed is -
(a) Wo-Wy % 100 (b) W—-W, *% 100
W, W,
| Wo—W, W,
. —2 1 % 100 d —— x 100
O G
g4
2 The foree of action and reaction are (1
{a) always equal only
always equal and opposite
() always equal but in same direction
{d) always unequal and oppasite
Ha. The recoil velocity of a gun is
{a) Equal ta velocity of bullet (1

(BLMuch greater than the velocity of bullet

7} Much smaller than the velocity of bullet

{d) Cannot say



